Trigonometry — more equations for practice

| Solvefor 0= x <27

Answers:
x Tx 91 157w
1) sec2x-+/2 =0 x==,— = =
0 \/_ 8 8 8 8
(2) 4sinxcosx—Zx/gsinx—Z«/Ecosx+\/€=0 x=£,£,3—ﬂ,ll—n
6 4 4 6
(3) sin® x = sin? x x=0,£,n,3—n
2 2
(4) 4 cscx-9=0 w=sin” (2) 7 —sin (2
9 9
(5) 4 tan2x-1=0 x=tan"! l , m—tan”! l , T+tan”! l , 2w —tan”" l
2 2 2 2
| Find all solutions:
(6) sin2(§)+cosx=1 x =25k, k int eger
(7) cos2x = 1- 3sinx x =7k, k int eger
(8) sin3x - sinx = 0 x = 7k, %+%k, k int eger
(9) sin 56 = 1 0=%+%,kinteger
i R
(10) sinx cos2x — cosx sin2x = - X = k integer



